H & 0l & AHS B Ml A

20255 = =0llah LBHSI | S AIXH A 1t

S AITH A4
QHMGHL) Eelgt TAIZEE A
SAIDEENE A = (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
A4t 13,845,151 8,314,081 5,531,070
= 1,004,000
S 210,000
Al 2,531,151
H 10,100,000
ot HelEt TAlZEEd 10,424,806 4,002,030 6,422,776
= 1,004,000
S 210,000
Al 710,806
H 8,500,000
CAZEHEE A =0 10,424,806 4,002,030 6,422,776
= 1,004,000
[ 210,000
Al 710,806
XH 8,500,000
CAIZEEE At 2,030 2,030 0
203 BR8] 2,030 2,030
03 AIF=AIH 2= 2,030 2,030
OSANRYLH Y=
2,030,000 2,030
ABES SAMY REAG(EX) 8,200,000 4,000,000 4,200,000
Al 700,000
T 7,500,000
401 AlEHIZ 201 8,200,000 4,000,000 4,200,000
Al 700,000
H 7,500,000
01 Al&| 8,200,000 4,000,000 4,200,000
CUELELVIgESE
8,200,000,000& 8,200,000
Al 700,000
XH 7,500,000
DANG (L2 E) AT SEAI(EX) 2,222,776 0 2,222,776
s 1,004,000
S 210,000
Al 8,776
T 1,000,000
401 AlZHIZ 2018 2,222,776 0 2,222,776
= 1,004,000
S 210,000
Al 8,776
XH 1,000,000
01 AlZHI 2,188,827 0 2,188,827
OZHaginelsd £4 2,188,827




A SAITHAE D
M OHNGHD HElst SAIZEEd
SRl DAIZEEE AY A (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
—J|EA=E E Y 20,000,000 20,000
= 16,667
= 3,333
—AEZ ZHTA
2,168,827,000& 2,168,827
[ 966,356
= 202,471
H 1,000,000
02 Zcltl 25,173 0 25,173
OAMAEDRISE =4
25,173,000& 25,173
[ 20,977
= 4,19%
03 Al 20HHI 8,776 0 8,776
OZMagielsd =4 8,776
—JIE A== ENbI 491,000& 491
—A=E S SAHI 8,285,000& 8,285
M-S (ZAITHAED}) 3,370,150 4,262,209 892,059
Al 1,770,150
H 1,600,000
WA XIE 1,347,990 4,190,209 N2,842,219
CANSESESH HES 1,347,990 4,190,209 N2,842,219
701 JIEtl HISHES 1,347,990 4,190,209 N2,842,219
01 JIEt=I AN ES 1,347,990 4,190,209 A2,842,219
O=AMY SE2H 823
1,347,990,000& 1,347,990
SHENE(LetaA) 2,022,160 72,000 1,950, 160
Al 422,160
H 1,600,000
X S0IRtaE (4. 022 SEHH £4) 250,000 72,000 178,000
311 XS0l Rrate 250,000 72,000 178,000
05 JIEFXH A SOl KHaket 250,000 72,000 178,000
ONSE=HH 24 X Ol
12,500,000, 000& *2% 250,000
A S0l A&t 152,160 152,160
311 XS0l Aratat 152,160 152,160
01 Al - 2 - FXGHEI IS S0l AHa & 96,000 96,000
ORD SEHHIE o XS Ol Arat&t
6 000,000 *1.5% 96,000
03 SLHIALS0I Xttt 56,160 0 56,160
OXNZ aets gt xtat Ol krafat
1,600,000,000& *3.51% 56,160
A== 1,600,000 0 1,600,000
H 1,600,000
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